N6 RS 1 IRls FIRICERE /) Bl R =

HiF Sf647 A 18 H (K) 14 F 00 43~
Bt EHTFRKESEE 5B Kam=E

w 5
1 B =
2 o
3 % &
(1) &
T RN B ARSI SERE 1B MR (T I 1T D AR IR E R AL R I o T

=
(ERk1-1, &k 1-2)
BN 6 AL BT ERE J) BRFE SRR |2 d5 1T D A AR FEhi R e A DT
(&kt2-1, EF2-2)
U SRS - ETHERET VI — FNRERBE  (BE3)
(2) Wik - B RAH
T 11 YA FIRIEZERE ) BRFE FHE O N 5 AR EE IR & BN 6 R DB AT
DNT (EE4)
A4 D HOEEANMERRIZONT
4 = O

5 A =

“®

X E B

EE1-1 &0 5 R IRSICERE ) B JE Miak |2 35 1 D R L

BEk1-2 ﬁﬁ%%ﬁﬁ%%ﬁ%@ﬁ%%@ﬁ%

gE2-1 %ﬁ6$§%i%¥Aﬁ%%m: BT DAL - AR

Brt2-2  RSIRkCERE T PA FE M @1$$@E§ﬁﬁ4®%%UH4&W%H
B3 TN 5 AR WTE&ET/# N RRARE R OB

w4 55 11 Y TFIRIBCERE J) PSR BI oD 75D 5 AR E SERE & AN 6 4R O Bk 7




